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L:8 Thunder and Anansi

Comprehension

A.1.Answer( c) there was a femine in the land.

2. Answer : ( c) a few nuts from a palm tree growing
on aisland.

3.answer: ( c) they fell into sea
4 answer : ( ¢) when the magic stick beat him severely

C.1l.answer: Agassi travelled in broken boat to get
nuts from a palm tree.

2.answer : Anansi jumped into water for he didn’t
want to go back home empty hands.

3.answer: Anansi secretly ate nutrious food so he
plumbered.

4. Answer: He didn’t do right things because Second
time he fell into water for magic gift from thunder.

5.answer: Thunder gave Anansi stick Second time to
give him punishment for greedy.

6.answer:The characters of Anansi changed because
when Anansi got magical cooking pot he became
selfish.



7.answer : If | were Anansi and | could find my father
cheating from his family | got annoyed with him.
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